MULTIPLE CHOICE Circle the correct answers. SCORE: /4 PTS
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(1] Which of these is/are improper ?  #1% [ cotx dx o _[ secx dx 3 J‘
0 3
CIRCLE THE LETTER BELOW WHICH CORRESPONDS TO THE CORRECT ANSWER.

[A] none - O only #2 [D] only #3

x+5x 6

[E] only #1 and #2 only #1 and #3 only #2 and #3 [H] all
1 0 0
, 1 1 1
[2]  Which of these converge(s)?  #1w% j'm dx Hom _[ — dx 3w _[— dx
i . =
CIRCLE THE LETTER BELOW WHICH CORRESPONDS TO THE CORRECT ANSWER.
[A] none [B] only #1 [C] only #2 [D] only #3
[E] only #1 and #2 [F] only #1 and #3 [G] only #2 and #3 . [H] ( all @
Give very brief answers. Explanations are not required. SCORE: /4 PTS

(1] If A(x) < x™* forall x, what can you conclude about Ih(x) dx ? II:_JTH NG 1@
1

[2] If f(x)=g(x)=0 forall x,and J‘f(x) dx diverges, what can you conclude about Ig(x) dx ? NOTH )N(’_’i @
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Evaluate Ixe 3 dx  If the integral diverges, write “DIVERGES”. SCORE: /6 PTS
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Evaluate Jl6x2 In(1+4x*) dx. SCORE: /5 PTS
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Evaluatej 1221—1‘ dar. = j(..-é(———- @CZL’Q + C’) ‘t SCORE: __ /5PTS
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Evaluate I > dt.
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